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Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1 The most important form of precipitation for the crop is Had & g T BT FEY IEETLUT FU HH AT

A Snow fequra (Snow)

B Drizzle §aT qidt (Drizzle)

(o} Rain agt (Rain)

D Dew 3T (Dew)

Q.No: 2 The plant nutrient when supplied in excess prolongs the growing period and delay crop maturity: DIF 1 UGy Uives dd 3ifde A6 § 3y 91 W q@ P A BT T BT & 3R B U H 33 P BRUT §7dT 82
A Iron ?ﬁET

B Phosphorus BRGRY

C Nitrogen ATgeie

D Potassium TReRrg

Q.No: 3 What are the organisms called which change their body temperature according to the surrounding? AR & SER IRR & YA B e a1d Siid & 7T Hgd 82
A Hypothermic mﬁuﬁh?

B Poikilothermic nEfraufife

C Sphygothermic Thiuffe

D Homeothermic 'ﬁﬁéﬁﬂﬁﬁ

Q.No: 4 Father of soil microbiology is: TeT GeA Sitd a9 & SF e HH 82

A Bejerink EEitcd

B Liebig forfemr

C A. Waksam Q. 9HhI™H

D S. N. Winorgradsky .. fRiswt
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Q.No: 5 Improved Indian variety of wheat, carrying genes of dwarfness and higher percentage of protein?

A Lerma safed

B Sharbati sonara
C Kalyan

D Sonalika

No: 6 Which of the following element is associated with O;- evolving complex of PSII?

©

Magnesium (Mg)
Manganese (Mn)

Sulphur (S)

o 0 & >

Nitrogen (N)

.No: 7 Depth of cultivated soil is up to:
45 cm
15cm

30 cm

o 0O w >» O

5cm

Q.No: 8 The law of diminishing returns assumes

A There are no variable factors of production

B Some factors of production are fixed

(e Utility is maximized when marginal product falls
D There are no fixed factors of production

Q.No: 9 Economically useful crops with desired improved character are raised by

A Biofertilizers
B Natural selection
(o} Hybridization
D Biopesticides

Q.No: 10 Soil are surveyed and classified on the basis of distinctive feature of:
A Soil horizons

B Soil profile
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o 0 w

Q.No: 13

o 0O w

Q.No: 14
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e

Parent material

Soil samples

Which active substance secreted from the saliva of gall midge larva and are responsible for gall
formation (silver-shoot) in rice-

Phytogen
Glycogen
Cecidogen

Spinosad

The law of diminishing returns applies more generally to
Agriculture

Industry

Marketing

Entrepreneur

Hygroscopic moisture is held at:
200 atm.

100 atm.

31 atm.

99 atm.

Cropping system which involves the raising of crops, animals and or trees is called
Multiple cropping

Mixed farming

Intercropping

Mixed cropping

Relay cropping is
A system of cropping where two or three crops are grown annually

A system of cropping where one crop hands over the field to the next crop in a quick
succession.

A system of cropping where an associate crop is grown in between the rows of principal
crop

A system of cropping where two or more crops are grown together by mixing of seeds
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Q.No: 16
A

B
C
D

Q.No: 17

o 0o w P

Q.No: 18

O 0O w

Q.No: 19

Q.No: 20

o 0 m >

Q.No: 21
A

B
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The acid growth hypothesis offers a possible explanation for-

Gibberellins induced internodal elongation
Auxin-induced cell expansion
Cytokinin induced rapid proliferation of cultured plant cells

Ethylene induced senescence

Sesbania rostrata is a photoperiodic sensitive plant with nodules in its stem, which mutant variety is
developed by BARC, Bombay which is photoperiod insensitive, salinity tolerant and can fix nitrogen.

TSR-1
ATS-1
TRS-I

PAL-I

Net ATP consumption to fix 6 molecules of CO;in Calvin cvcle is-

18 ATP
24 ATP
12 ATP
6 ATP

Which statement about photorespiration is true?

It is the only way of respiration in plants.
In photorespiration Rubisco fixes atmospheric COa.

It operates in mitochondrion.

It is limited to C; plants only.

A plant that has been deliberately altered or selected by humans; it is the result of artificial selection
is called

Gene expression
Natural selection
Cultigen

Translation

Which of the followings is a bacterium involved in denitrification?
Azotobacter

Nitrobacter
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TSR-1
ATS-1
TRS-1

PAL-1I
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18 ATP
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Q.No: 22
A

B
C
D

Q.No: 23

O 0O W

Q.No: 24

o 0O w

Q.No: 25

O 0w >

Q.No: 26

Pseudomonas

Nitrosomonas

The product label should indicate whether the pesticide is highly toxic by
Skull and crossbones signs

Bones sign

bones on both side of skull sign

skull sign

Which of the followings is an igneous rock?
Quartz

Marble

Mica schist

Slate

Export- Import bank was established on 1st January
1981
1982
1983
1980

Genetics stimulated research to improve crop production , Who is considered as the "father of
genetics"?

Charles Darwin
Muller
Robert Hooke.

Gregor Mendel

Which of the following statements about photosynthesis is not true?

Photosynthesis is a biological oxidation-reduction process.

Photosynthesis is O;-evolving process.
In photosynthesis CO; is reduced

In photosynthesis H>O is reduced
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Q.No: 27 The daily weather forecast is obtained in the country from

A Pune

B New Delhi
C Mumbai

D Hyderabad

Q.No: 28 Which statement about the light is not correct?

A In light wave, both electric and magnetic fields oscillate perpendicularly.
B The energy of light is directly proportional to wavelength.

C Light has dual Characteristics of Both Particle and Wave.

D Light is a transverse electromagnetic wave.

Q.No: 29 Which of the following act as a soluble protein to which in turn reduces photosystem I (P700).

A Plastocyanin

B Cytochrome b6 f complex
C Plastoquinones

D Pheophytin

Q.No: 30 Generally the preferred intercrop in Sugarcane is

A Castor

B Short duration pulses
C Maize

D Rice

Q.No: 31 In photosynthesis, light independent reactions (dark reactions) take place in-
A Granal thylakoids
Stromal thylakoids

Lumen

O 0 @

Chloroplast stroma

Q.No: 32 Net profit is computed in the

A Trading account

B Trial balance

C Profit and loss account
D Balance sheet
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Q.No: 33 Tomato b_reed_ers use which mutation to red.u_ce the softening of fruits and produce firm fruits with THR & USHH Hv_cﬁ & A T B HH B %ﬁ fore o aaﬁa?h BT IUANT B ¢ 3R R W TP+ a1dl THE & Iy
delayed ripening effects but decreased nutritional value, color and flavor of the tomato. T Bd Yo7 PR % QAf TATER & Yo H, T 3R e § It ot %?

A Pin mutation o Saafead

B Rin mutation &1 Saafvads

C Pen mutation U Iafadd

D Tin mutation e Safkada

Q.No: 34 What type of development parthenocarpy is qferdf fhg R @1 faer §

A Seedless fruits are formed from ovary with fertilization. i & 91y SieTRE ¥ SioRfed B 9d &

B Seedless fruits are formed from ovary without fertilization. o i & sisTer @ fieRfed Bd a4 €

C Fruit, with seeds, are formed from ovary with fertilization. Pd, N F qiy, e & 1y SfemE ¥ Ta ?

D Fruit, with seeds, are formed from ovary without fertilization. wd, 99 & 1Y, f3=7 e & semm d S §

Q.No: 35 First stable product in Calvin cycle is- Ffed s HT UuH fRR IdIE 8-

A 3-Phosphoglycerate 3-BIEpIERe

B Dihydroxyacetone-3-phosphate mﬁ@ﬂ?ﬂﬁﬁq-}\ﬁ?ﬁ’?

C Glyceraldehyde-3-phosphate mﬁg-}w‘m

D Ribulose-1,5-bisphosphate ﬁg?ﬁﬁr-l,s-ﬁ'ﬁlﬂ'\‘aﬁf

Q.No: 36 Irrigation with sodic water increase the availability of: gited T ﬁﬁﬂ'ﬁc A R [Pgat Iudsar # q@ et %’?

A Sodium wifsaw

B Molybdenum HiferssTH

C Zinc foiw

D Chloride TARTSS

Q.No: 37 Triticale is a potential energy crop and is a result of T?ﬁib_d T G SHolt Had 7 3R 3qb1 gRumT §

A Crossing two breeds of wild ancestral Rye SiTeft a?ﬂv' ?I'&‘ P g A%l B UR HIAT

B Crossing of wheat and rice ﬂE 3R UTad B IR HIAT

C Crossing of two modified forms of wheat ﬂfa? TN ¥l BT HH0r

D Crossing wheat and rye ﬁE 3R TI% Y IR ST

Q.No: 38 The bowed shape of the production possibilities curve illustrates. JdTGH YHTGAT Tsh B YITHR ('sg‘if)rT T) Pl axie &1

A Law of Increasing Marginal Cost Hwid @rT EE‘-‘T @1 fAaw

B The demand is relatively elastic HIT BT Gﬁ&nﬁ AIER BT
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C The production is unattainable

D The production is inefficient

Q.No: 39 Soil containing high proportions of organic matter have following colour:
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JATEH DI ST
JeTGT Pt MHRIAAT

FraE el & I U are gt § B ¥ 97 8 72

A Yellow colour rem @1
B Red colour GIGEL!

C Light colour ToBT 3
D Dark colour TG M

Q.No: 40 The line drawn on map connecting points with equal rainfall is called Al R 9 auf ard figsit &1 sie arelt X a8l
A Isobar STFHER

B Isohyet 3MgEd (3HIEI8C)

C Isohels Gﬂsﬂﬁﬁl

D Isonephs SMEART

Q.No: 41 When the component crops in the cropping system are equally competitive, aggressivity index is

e e YUITel & Uee Bael 9 w0 J giaeyel g1t €, d e dl Judie gial &

A 2 2

B 1 1

c -2 2

D 0 0

Q.No: 42 Obligate parasites are organisms that: JifSTie Refidt T sitg & S......

A Are saprophytes but can also become parasites. ﬁ";ﬁ'l'b'lsf %W weidl Of 9 I@d %'I
B Consume living host. Sifad AvaE &1 @ ?I

C Are pests but can also become saprophytes Fle % AfeT H?ﬁm Wl 99 wod %l

D Consume only dead and organic matter. »aq qd 3R Prefe Terdf & @ gl

The connecting link between glycolysis and Krebs cycle is Acetyl CoA, which is produced by

Q-No: 43 the enzymatic action of- MBI SR 8 @b B i A arefl Bt WRrereer o1 TS g, S Gt e g i St 8-
A Pyruvate reductase TEace Reaed

B Pyruvate kinase UsEac BEAd

C Pyruvate dehydrogenase complex UgEde fegggivmY Hrge

D Hexokinase TR e

Q.No: 44 Despite of highly photosynthetically efficient, C; plants are less productive, because-

USRIl HYAOTH HTEE HaTA Glet & draeig, C; el &7 ScigeT & GidT & aiieh-
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C; cycle operates in dark.

C; plants also exhibit photorespiration
Rubisco is absent in C; plants

C; plants are very less in nature

Who suggested product, pricing, place, promotion all these in a company represents “Market Mix"?

Philip Kotler
Stephen Morse
Neilsen

Neil Borden

The concept of pureline was proposed by Johannsen on the basis of his studies with common bean
variety called

Albert Pinto
Princess
Calypso

Muller

Hydraulic conductivity of soil varies directly with:
Water holding capacity

Capillary porosity

Total porosity

Non-capillary porosity

Collaborative effort of which system is to safeguard the genetic diversity of agriculturally important
plants

National plain Germ system
National Protoplast Germination System
National Plant Geology System

National Plant Germplasm System

Which is the alternate crop to rice in rabi season both in command and well irrigated areas in South
India
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Q.No: 50

O 0 W

Q.No: 51

o 0 @ >

Q.No: 52

o 0O w

Q.No: 53

O 0O w

Q.No: 54
A

B
C
D

Sugarcane
Wheat
Sunflower

Groundnut

Short supply of water to meet the demand for crop duration is called
Meteorological drought

Hydrological drought

Agricultural Drought

Physiological drought

The Golden rice is a variety of rice (Oryza sativa) produced
through genetic engineering to biosynthesize a precursor of
vitamin A is called

Glucuronate, W?ﬁﬁ?ﬁ'c'
ergocalciferol Q"ﬂ%ﬁ!ﬁ'ﬁ?{
Beta-carotene dter FAdH

Phytyl pyrophosphate LIEELE TRRIGTEbe

Which cropping system is occupying the largest area in India
Rice - Rice - Rice

Rice - Oilseeds

Rice - Wheat

Wheat - Rice

The physical state of atmosphere at a given place and time is referred as
Mico climate

Weather

Environment

Climate

Which of these best explains fixed assets?

Are expensive items bought for the business

Are items which will not wear out quickly

Are of long life and are not purchased specifically for resale

Are bought to be used in the business
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In which planning period profit rule says that gross return should cover variable cost: g OrerT rafil & a1y &1 e wedl § i T @y & uRad-siia arra wfie 2 =T
I. Long run 1. Sdpiis

II. Short run I1. 3feUeIiei

Neither I nor II FA I I

Only II Had IT

Both I and II I 3R 11 g

Only I Fad I

Average fixed cost is equal to 3d fRR @ P SRR Bt 2

Total fixed cost/total variable cost Pd fRr AN/ Pd uftqd=Tiier @rTd

Total fixed cost/Input Pa @R?I'I'lﬁ/ﬁﬁ?r

Total fixed cost / 100 Pd R @a/100

Total fixed cost/output Fd R a1 /Sare

Iso-revenue line is a: T H-IoTT 3T § T

Vertical Line daaq ar

Straight line el ¥@r

Horizontal line afest ¥ar

Curve line % Y@l

In no- tillage system, the surface soil layers have JA-YaTs yunet #, Fael gt o wat & g 8l
Higher total pore space 3o Pl oz wmM

Lower bulk density Y 4IF 99a

lower water infiltration FH U gate

Higher bulk density I AP T

Which one of the following is not a physical factor affecting the type of farming? Fefifad # ¥ o T IRS qﬂﬁ P UBHR DI YHIRAT DA are Wi SR B %‘?
Climate Searg

Labour LU

Topography W?I'IT%

Soil fardt

If marginal product is below average product- g Fuid Idrg SHEd IUTE § B 3.....
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Average variable costs will fall

The total product must fall
The average product will fall

Total revenue will fall

Normally South -West Monsoon in Kerala starts at
May 1st Week

June 1st Week

June 3rd Week

May 3rd Week

Which one of them was the first who outlined the method of developing multilines in wheat
M.S. Prasad

T. Fairchid

C. Darwin

Borlaug

The Average Variable Cost is the result of ?
Total variable cost and fixed cost

Output and marginal cost

Marginal coat and total variable cost

Total variable cost and output

When Due point temperature is below 0°C, moisture tums directly from gaseous to solid state called

Glaze
Frost
Sleet

Dew

The succulence and lodging in plant is due to ‘excessive’ application of:
Zinc

Hydrogen

Potassium

Phosphorus
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Q.No: 66 A data of the entire parent off spring relationship is maintained and known as-
A Track of pseudo compatibility.

B pedigree record

(o] History of self-compatibility.

D

Mean of pedigree

Q.No: 67 Which statement about mechanisms of sap flow in plant vascular tissues is not true?
A Sap flow in xylem is mostly unidirectional, whereas in phloem, it is bidirectional.

Driving force for sap flow in xylem is transpiration from leaves, whereas, in phloem
it is dependent on active transport of sucrose at source.

(o] Pressure potential is positive for xylem and for phloem, it is negative.

Site of sap flow in xylem is nonliving vessel elements and tracheids, however, it is
through living sieve tube elements, for phloem

TTr-fren & sifts BT fed &7 e Tyul et ST a1 ST § SfR S ST el -
BT T BT &P

ERUCCIRTEIE

SITH-TITeaT T 3fagTHI

ERICKIGI RG]

QYT Gagt ! H T TaE $ dF P aR H I 91 HYT 99 -Tel 32
STEe & AU 7aTE WIERR TP ST 8, Fafe wied §, 97 fifefiagiar 21

STgeH W QY yarg & fore IRve ufd uirl & araiiosi| 8, Sefe ity § ag widl § Yo & Afha giiue w AR 81
STgad ¥ fIT gaTa & 9PRIAS § 3R FIYH & Y, 78 TR 8l
SiTgeH & ¥ yars foifa arfewrei U4 ¢fs & gR1 8la1 3, SafP, Wied & ¥ Sifad 9ol AfeTe HIe ¥ giar 31

GeRTeI FLeTIOT # AR Ter11ehT HTAT & TR Tdeh e O, HUBT &1 TEAT H1 50 TR

Q.No: 68 Number of O; molecules evolved per quantum of light absorbed in photosynthesis is defined as: | gfysnfag fEaramr &

Quantum Loss
Quantum Requirement

Quantum Yield

o 0 m >

Quantum Efficiency

Q.No: 69 One of the major problems in rice - wheat cropping system is

A Delayed wheat sowing

B Excessive weeds in wheat
C Delayed rice sowing

D Early rice sowing

Q.No: 70 The broad sense heritability is expressed mathematically as..?

A H? =vg/vp
B h=vg+vp
c h=vp/vg

D h=vgxwp

wicH g1
®icH ATagHdl
HicH
icH &Hdl

AGA-Ng THad Joneh & v gowmedi § ¥ e ¥
A M P TR

g &<t A Srafte TRUaaR

4T B & | qaTg

4T B} 3R gag

AR @1 e 3ref T WU ¥ sred fbar S § L2

e = dieil/ddr
T = diElr + ddr
T = 9y [/ der
T = diEf o« didy
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.No: 71

.No: 72

.No: 73

.No: 74

.No: 75

e

When fixed cost doesn’t change with the change in output..?
I. Marginal cost would be minus.

II. Marginal cost would be plus.

III. Marginal cost would always be 0.

Only II

Only III

All I, IT and III

Only I

Why is gravity a factor in watersheds

it causes the water to flow away from a watershed
it causes the water to flow towards a watershed
water flows towards sewage drainage system

water seepage

During the process of light reaction in photosynthesis, which among the following act as ultimate
electron donor?

Chlorophyll b’
Oxygen
Chlorophyll ‘a’

Water

Progeny resulting from the interbreeding between two plant species is called
Heterozygous

Hybrid

Homozygous

Clone

First commercial use of transgenic tomato & tobacco begin in which country
America

China

India

Ireland
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Which statement about Rubisco is not correct?

Mg is required for Rubisco activity
Rubisco acts as oxygenase in photorespiration.

Rubisco Activity increases in the dark.

Rubisco acts as carboxylase in Calvin cycle.

World Meteorological day is celebrated on
14th August

15th August

23rd March

15th January

What is the correct sequence of reactions in Calvin cvele (C; cycle)?

Carboxylation ™ Regeneration® Reduction
Carboxylation® Reduction® Regeneration

Carboxylation ® Regeneration » Oxidation

Carboxylation® Oxidation ™ Regeneration

The C, oxidative photosynthetic carbon cycle is associated with-

Hatch and slack pathway
CAM Metabolism
Pentose phosphate pathway

Photorespiratory cycle.

The desired Land Equivalent Ratio (LER) for the intercropping to be beneficial is
1]

<1

>1

1

The predominant protein in plant leaves, catalyzing the first reaction of the Calvin-Benson cycle is-

Aldolase
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Transketolase
Rubisco

Phosphoribulokinase

Yearly sequence and spatial arrangement of crops or crops and fallow on a given area is called
Cropping pattern

Crop rotation

Cropping System

Farming system

The wvalue of respiratory quotient iz infinite (o) in ease of-

Anaerobic respiration
Substrate is Fat
Substrate is organic acid

Partial oxidation of carbohydrate

Efficiency of applied fertilizer in rice crop is:
5—-50%

10-75%

60 -90%

50-75%

The crop suitable for cultivation in saline sodic soil would include:
Sugar-beet and rice

Soyabean and sugar- beet

Soyabean and rice

Trice and maize

The process in which nutrient density of food crop is
increased through conventional plant breeding or modern
biotechnology without sacrificing any characteristics-

biofertilizer Afaw @
Biofortification Eipieaitiv e
bioremediation Sfaw IR
bioleaching 9 fyames

GET IT ON

Google Play

mppeb.cbexams.com/MPPEB_Cand_Objections/G1g2recruitementesbresponses/ViewCandResponse.aspx

[REZIRE]
et
PREINgAIeET

it & & el a1, BT 3R Wl & diics A 3R W a®IT H) H8T ol &
Bud et

B Th

BHd YOIt

Py yomedt

9T ARTHe #1 A FAd (o) e # F G Fufg & gar &2
A 4T

geaee a9 ®
FHLT PIEHS 3 T
PraleTse B ik sfaitmor

TG B HIA & TG IRS B & fba gl 82
5 —50%
10-75%
60 —-90%

50-75%

TaURER Hfee gt o Welt & forw Suged waa # F Wik g2
THeR SR uH

T 3R geber

T 3R 4T

215H IR HaPT

I8 Ufthan o uRuike Tl & U a1 Ny S Wit & mem § A e faRivar &1 @ e A waat % UINe O Bl 9TdT STl 3, O 9 b 8-

16/40


https://applink.adda247.com/d/XhqWf9lSap

Addal247

7/25/23, 12:50 PM

Q.No: 87

o 0O w »

Q.No: 88

o N0 W

Q.No: 89

o 0O @ Pp

Q.No: 90

O 0w >

Q.No: 91
A

A farmer having more than ten hectare of irrigated the land, is known as:
I. Small farmers
II. Marginal farmers

II1. Big farmers
Only III

Only I

All I, IT and III

Only II

Dairy farming, poultry farming, crop farming and pig farming are
Types of farming

Dry Farming

Mixed farming

System of Farming

Growing of two or more crops simultaneously in strip wide enough to permit
independent cultivation but narrow enough for the crops to interact agronomically is
called
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gt &t

fafdra @it

@t Ft yoredt

WA Fdt & o yafed A<t ugt & w Ty < a1 &l A i Baal B AT Afth HHal B WRER TUIE F AT vt Gl @ weardr §

Strip intercropping U gevspifT

Mixed intercropping faf3a gewwia

Row intercropping ufa ey

Relay intercropping & gepitam

The process by which humans use

plant breeding to selectively develop

particular phenotypic traits by . Y . . . .
98 UforaT oI gRT TSI UTeU USi 1 ST Urelf & R 3R A1ET & gHaR ORIy FU F Bl dent & fasRd s & e #=d § S 39 ¥ § Uo- $491 3R T 1Y Ga daT s

choosing plant males and females
which will sexually reproduce and
have offspring together.

Genetic flow. STIARTs yarg
Gene pool S @
Natural selection ‘mfﬁﬁf g+
Selective breeding TYATHD Yo

Which main step of the following is not carried out by plant breeding technique?

selection and isolation of desired recombinants

fofifad & ¥ S19-91 g =R UTey Yo+ ddb-id gRT T8l fbaT ST 82
qifesd qA: WeS! BT 99 3R SrerTa
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gene bank Eipkcd
selection of host and carrier Aoar 3R digd &I g+
D cross hybridisation among the diseased parents IR ATd-Man & i B g fysgeRe

Q.No: 92 Lines connecting the points of equal water table are called

A Isobar
B Isobath
C Isohyte
D Isotherm
No: 93 A cross is made between two homozygous parent plants, is called monohybrid cross. In this cross F2
Q:No: phenotypic ratio is
A 1:1
B 2:1
C 1:3
D 3:1

Q.No: 94 Crops that have been genetically modified to produce their own protection against bugs are called

A Herbicide resistant crop
B Drought resistant crop
C Disease resistant crop
D Pest-resistant crops

Q.No: 95 Clone is described as-

Group of cell or organisms which are genetically identical and have all been produced from

A same original cell

Genetically not identical cells sexually produced by different progenitor cell
C Genetically identical cells sexually produced by different progenitor cell
D Genetically not identical cells asexually produced by different progenitor cell

Costs that vary with production are..?
Q.No: 96 I. Marginal costs

II. Fixed costs

A Only II

A W et & figel F Siew aret Y@ FEa §
3SR
3TgEETy
3gteTge
gt

& TSt O Wl % o9 T B S 91 8, B BHIgRE H9 S8 o 31 59 1 & F2 HHeRiis s
N

1:1

3 A g BIet § Ut Qe & R srgafkies Fu & W= fawam man &, wearh 8-
RN ufeRidt wae

@ aiRid waa

T gferteh waa

Fic yfaRidh v

FF & T aftfa 8-
BRI I7 Siidl BT TYE ot STIHRIB TU & T4 8 R @it TP € qa ST A I0A L&

TFARIE T F TUH BIRIG T8 Wi At gder HRrwrei gR1 94 T & Ianfed g §
TR =0 & THF ST & it b SRl gr a9 wu d Affa ad &
TR T § T SIRAPTE TS S - G HRBTIN GRT AN w0 § Iaunied ard &

S RIS e F WY Fead 8.2
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11. fRR arTd
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e

Neither I nor II

50 PM

Only I

Both I and II

Absence integration between resources and activities in the process of production is called:
Quasi-linearity

Quasi-non-linearity

Non-linearity

Linearity

Farm management concern with obtaining the maximum yield per hectare and considers per unit cost
therefore it is:

Integrating Science
Practical Science
Broader Field

Profitability Oriented

When TPP is maximum, the MPP will be
I. Maximum
II. Zero

III. Minimum

All I, IT and III
Only II

Only I

Only III

Which of the following is not correctly matched?

MPP rises continuously - Till MPP is more than APP

APP & MPP both falls but TPP rises. When MPP is less than APP but more than zero
TPP rises continuously - Till MPP is not equal to Zero

App rises continuously till APP and MPP is both equal.

Choose the odd one out from the following monuments (in terms of locations)-
Hawa Mahal

City Palace Udaipur
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C
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Q.No: 102
A

B
C
D

Q.No: 103

O 0O w

Q.No: 104

O O @ »

Q.No: 105

O O w

Q.No: 106

O 0O W

Q.No: 107

Mehrangarh Fort

Sikandra Fort

Madhya Bharat, has also known as Union.
Kshipra Union

Narmadapuram Union

Jhansi Union

Malwa Union

Quentin Tarantino is a famous
Scientist

Cricketer

Economist

Filmmaker

Who has topped as the most generous person in the country with an annual donation of Rs
1,161 crore, the EdelGive Hurun India Philanthropy List 20227

Shiv Nadar
Salman Khan
Anil Ambani

Ratan Tata

What are the rocks formed by the cooling of magma on the earth's crust?
Metamorphic rocks

Sedimentary rocks

Intrusive igneous rocks

Extrusive igneous rocks

Where was the Congress session of 1888 held?
Allahabad

Bombay

Calcutta

Nagpur

Who first introduced canal irrigation in India?
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A Muhammad Ghori WTﬁﬁ
B Ghiyassudin Tughlaq TR TS
c Firoz Shah Tughlaq A =mE e
D Mohammad Bind Tughlaq Tgwre fig grae
Q.No: 108 Who is the Current Attorney General of Madhya Pradesh? T YW & aaHH HeEdTe! B 87
A Shri Narottam Mishra ot R frsm
B Shri Meena Singh ot #i+1 Rig
C Shri Kamal Patel €t vUa wed
D Shri Purushaindra Kaurav ot W BRa
Q.No: 109 Where is the Jawaharlal Nehru Krishi Vishwa Vidyalaya located in Madhya Pradesh? e YRR | TaTeRad Hew HiY [aufderer wet fRud g2
A Khargone Ecrain]
B Bhopal AiaTer
C Satna LiGE
D Jabalpur AR
Q.No: 110 ‘Go back to Gita’ was a prominent slogan given by which social reformer? i1 Bt 3R ey AT ﬁéﬁg"ﬂ?ﬂ‘ 9 IS GURS HT UGE AR UT?
A Ramkrishna Paramahamsa IHPW IWRHEH
B Ishwar Chandra Vidyasagar R 9% faegarR
c Swami Vivekananda Wt faderHg
D Dayanand Saraswati TG IR
Q.No: 111 What is the base year for calculating GDP in India? YR # S 31 MU F g emuR Y wr 2
A 2004-05 2004-05
B 2014-15 2012-15
(o} 2011-12 2011-12
D 2009-10 2009-10
Q.No: 112 Where is the Shyam Shah Medical College located in Madhya Pradesh? T e WS Dial AL U H Pl [d 872
A Jabalpur SEAYR
B Rewa Sar
C Dhar 4R
D Satna qaT
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Q.No: 113 Who is the first CEO of Twitter? R & wum sl 1 B2
A Paul Singer uia RiTR
B Jack Dorsey S SR
c Noah Glass e e
D Evan Williams ECIE] fafera
Q.No: 114 Find the correct statements about MPC - Q‘HW & IR H Tl HYF 1 BN -
A Both a and b a 3R b gl
B The Committee will have 6 members wfifa & 6 g g1
C Neither a nor b Adadd b
D It is related to RBI g ARSISTE J Hefera @
Q.No: 115 The electronic configuration of chlorine is: FARN BT oS [ §1
A 2,8,7 2,8,7
B 2,7,8 2,7,8
C 2,8,8,7 2,8,8,7
D 2,7 2,7

In which of the following types
of interactions does one
species harms or restricts the
Q.No: 116 other species without itself fofifad & ¥ oy yeRr 3 eri-afharst H U Ueia gadt Teiia & Wit o 3t § a1 39 81 Ugand § R WY 3 vl a1 Iuffd & SR bl o TR & ufied uHig ¥ R et 72
being adversely affected or
harmed by the presence of the
other species?

A Amensalism Sragyifemar
B Neutralism RLAGIE]

C Commensalism B HLEIEG|
D Mutualism HgHiferar

Q.No: 117 CHCIl3 15 known as — CHCI}EF‘T %Wﬁwﬁﬂfﬂ%—
A Gypsum forerm

B Chloroform FARIBIH

C Benzene ot

D Bleach =t
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Q.No: 118 Which of the following is a unit of electric current?

A Coulomb
B Joule

(o] Ampere
D Kelvin

Q.No: 119 This group of vertebrates comprises of the highest number of endangered species

A Mammals
B Reptiles
C Birds

D Fishes

What is the name of the law that states that the current flowing through a conductor is directly

proportional to the potential difference across it, provided the temperature and other physical
conditions

Q.No: 120
remain constant?
Faraday's law

Kirchhoff's law

Ohm's law

O 0O W »

Coulomb'’s law

.No: 121 Photo-phosphorylation is the process of:

ADP formation from ATP in the presence of carbon dioxide in the chloroplasts

Q

A

B ADP formation from ATP in the presence of light in chloroplasts

C ATP formation from ADP in the presence of carbon dioxide in the chloroplasts
D

ATP formation from ADP in the presence of light in chloroplasts

.No: 122 The red algae usually reproduce vegetatively by.............

Red algae

Q
A
B Laminaria
(ol Brown algae
D

Fragmentation

Q.No: 123 Calcium deficiency mainly occurs in the absence of which vitamin?

A Vitamin A
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Q.No: 124
A

B
C
D

Q.No: 125

O 0O w

Q.No: 126

O 0O W

Q.No: 127

o 0O w

Q.No: 128

o 0O w

Q.No: 129

Vitamin D
Vitamin B6

Vitamin C

Malaria is caused by:
Protozoan

Fungi

Bacteria

Virus

Lungs are the primary organs of
Respiration

Perspiration

Constipation

Digestion

What is the 2015 National Health Policy's purpose?
To improve the overall development of society
To improve the quality of life

To address the urgent need to improve the performance of the health system

To address the urgent need to improve the performance of transportation system.

Which of the following substance/s is/are sublimable?
All of the given options

Iodine

Naphthalene

Ammonium Chloride

Where does the process of photosynthesis occur in plants?
In Centrosome

In Chloroplast

In Nucleus

In Mitochondria

Which of the following first-generation computer had the most popularity?

mppeb.cbexams.com/MPPEB_Cand_Objections/G1g2recruitementesbresponses/ViewCandResponse.aspx
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A IBM 1130 3TEATH(IBM) 1130
B None of the given options few fapeal & @ zﬁ% |
c IBM 360 3TESTHA(IBM) 360
D IBM 650 3TESTH(IBM) 650
Q.No: 130 Which of the following series of super computers was released by C-DAC mission? C-DAC IR gRT gR SR &t Fofafad § 3 PI- /IR SR Bt TS @2
A FRONTIER FRONTIER
B EDIAC EDIAC
C UNIVAC UNIVAC
D PARAM PARAM
Q.No: 131 Pick the odd one out. foww =1 g
A mpeg mpeg
B .com .com
C .org .org
D .net .net

Which of the following checks all the devices and loads their drivers so a user can

QNo: 132 " properly, when a computer starts? Fofied § ¥ oI Tuft ST B ST FRAT § 3R STP SRR| BT TS HRAT ¢ D SR L §H TR STNTHAT 31 I B IR qb?
A Computer systems Huge Rew

B Hardware 31:,5%11?

Cc Software AredaR

D Operating system STRfeT Rrew

Q.No: 133 Which network topology requires a central controller or hub? 59 ead mareh & g @Ej{ H@Eﬂ 1 89 B MMIRTHAT Bl &2

A Star ®WR

B Hybrid HEES

Cc Bus T

D Ring o

Q.No: 134 ‘Sasser’ was in operation in 2004 in computer networking. It is associated with which of the following?  Sasser 2004 ¥ HUeR Heafd yaTa- H AT, I8 fhad Y IT §an 82

A Component Virus HUHC IR

B Document Software Sige Aleaur
C Computer Hardware HUER FTEATR

D Super Computer JUR HYR
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Q.No: 135
A

B
Cc
D

Q.No: 136

Q.No: 137
A

B
C
D

Q.No: 138

Q.No: 139
A

B
C
D

Q.No: 140
A

What is the alternative term for a programmable chip?
PROM

ROM

Microcontroller

RAM

Which of the following is the function of the Imaging and Video Input Devices?
A joystick allows an individual to move an object in a game.

A computer input device in the form of a light sensitive and used in conjunction with
a computer's CRT display.

It is used to digitize images or video from the outside world into the computer.

A peripheral device designed to be connected to a computer or console gaming
system.

The rows in a database are called
Headers

Fields

Records

Ranges

What is the best-case time complexity of the iinear search?
0o(1)

O(n log n)

o(n)

(0] (nlj

Which one of the reasons is incorrect with respect to the success of the open-source software?
Lower cost

More flexibility

Low reliability

Better quality

What are some examples of different input devices from the list below?

Optical/magnetic Scanner
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Manual Scanner ﬁ':[al?rﬁ»_ﬂ
C Simple Scanner HIYRY TR
D External Scanner mﬁ@)_-ﬂ'
Q.No: 141 Which of the following can be used to navigate documents? Fafafad & ¥ g Sugh Sxdasll @l Afdfe B & forg fovar o T 82
A all of the given options ﬁ'q T 9ff fiew
B hyperlinks [LHELNEED
C frames ¥
D web toolbar A9 TAIR
Q.No: 142 Which of the following is the latest version of windows? 7 & I FH-u1 S &1 Tdag JwHor (latest version) ??
A Windows 11 fieie 11
B Windows 9 fisie o
C Windows 10 st 10
D Windows 8 fistw 8

Find out the wrong term from the given alphabet series. 'chTl'siflUfHW %@FIT B 7o Ug J1d BT
Q.No: 143

CAT ACQ IGZ LIC CAT ACQ IGZ LIC
A I1GZ I1Gz
B Lic Lic
C CAT CAT
D ACQ ACQ

In the following figure, enter the omitted number in place of question mark (?). Fafafad srefa &, uy g (2) & R R J@ WA I1d Fiforg|
Q.No: 144 il il

3|7 7 3|7] 2
3|10 |22 3|10 |22

A 12 12
B 9 9
C 10 10
D 11 11

George is fifth from the left and Peter is twelfth from the right end in a row of children. If peter T : : v : v : Y Y
) . . e dfed § Sl 91 § 537 8 9k fex g’ ¥ 12467 81 afe diex &Y 3 wiH Sl #t e R
Q.No: 145 shifts by three places towards George,he becomes tenth from the left end.How many children % a5 R ¥ 104 %I i & Rras g %?

are there in the row?
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A

B
C
D

Q.No: 146

o 0 ©m >

Q.No: 147

o 0O @ »

Q.No: 148

o 060 ©m >

Q.No: 149

o 0O w >

Q.No: 150

24
22
21
23

Hemang is sixteenth from the top and twelfth from the bottom in merit in the class. How many

students are there in the class?
30
21
27
29

Find the missing letters in the following series.

UJ, SM, QQ, OV, ?
MB
EU
JQ
EI

Find out the wrong term from the given alphabet series.

DFK  FEL HDM FEL LBO

HDM
LBO
FEL
DFK

If in a certain language, "INCARNATION" is coded as “"65489581675". How is ‘RAINCOAT’ coded in that

code?

58154781
98654781
18654681
58654781

Choose the choice that is related to the third term in the same way that the second term is related to

the first term.
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24
22
21
23

U Hel H T H FW § ded 3R T ¥ IRed WM W g1 Fem & b 3H 82

30
21
27
29

Fofafad seen & g seR J1d Fio?

UJ, SM, QQ, ov, ?
MB
EU
JQ
EI

&) 77 quiATar SRgen ¥ Tdd Ue 1d B
DFK FEL HDM FEL LBO

HDM
LBO
FEL
DFK

Tfe fpt g yor o, “INCARNATION” FI “65489581675" HIfSd bl ST 8| ‘RAINCOAT’ HI8 HI HY HIfsd
fopan sma?

58154781
98654781
18654681
58654781

9% facen g7 o W ug ¥ 30 @ eifiid & 99 g1 g, Ued ue & Weifin 1
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o 0 ©m >

Q.No: 151

O 0O w

Q.No: 152

o 0o w >

Q.No: 153

0O W >

JQRD : KSUH :: LUXL : ?
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JQRD : KSUH :: LUXL : ?

MAWP MAWP
PMAW PMAW

MWAP MWAP

MAPW MAPW

Choose the odd one from the given alternatives. fau e fowedt @ i &1 9|

eaWT eaWT

vhOA vhOA

EIfg EIfg

AUrs AUrs

In the following question, two statements are given each followed by two conclusions I and II. You

have to consider the statements to be true even if they seem to be at variance from commonly ufiEd uy ﬁ’ A By 2T T ¥ Ok ude % wie o) sy 1 3R 11 2 U §1 Sy Sy @) g HET
known facts. You have to decide which of the given conclusions, if any, follows from the given % A Q) ¥ g gt | R udld 21 813U a9 BT % fFRUT SN T -

statements. Wﬁ'ﬁﬂf, ‘Jﬁﬁ@, WW%I

Statements:

Some notes are coins.
No paper is note.

Conclusion:

I. Some papers being coins is a possibility.

II. All coins are papers

Only conclusion II follows

Neither conclusion I nor II follows
Only conclusion I follows

Both conclusions I and II follow

What comes in place of (?)

756 | | 879
534 | [722
666 ?

482
471
571
562

HY: PO e, b ¢ |

Fig W O, Fe T 7 |

s

1. $8 UR &I R4ad g 3 gmia 2 |
1. oft Rredp, IR T |

Fae ey 1T TR0 H3aT &

At forspef 1 SRR T & 11 SFRROT R @
Fae Frepd 1 SRR BT @

3l forepd 1 &R 11 SrgERYT Fd €

UYaTES e & RIM W T ME?

756 | | 879
534 | | 722

666, ?

482
471
571
562
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DELHI & 73541 & ®0 § 3fR CALCUTTA & 82 2 & = # Hfed B dl, CALICUT & Y ofed famar
Q.No: 154 If DELHI is coded as 73541 and CALCUTTA as 82589662, how can CALICUT be coded? e 35 CALCU 8258966 s CALICU

S FHT 32
A 5978213 5978213
B 5279431 5279431
C 8251896 8251896
D 8543691 8543691
Find the missing number in the given analogy: fow o guEar o g T=AT1 J1d N
Q.No: 155
847 :12::964 :? 847 :12::964 :?
A 24 24
B 26 26
C 14 14
D 29 29
No: 156 Golu started from his house towards North. After covering a distance of 8 km, he turned towards left | Tig 30 TR ¥ IW Ft 3R 9 1| 8 ot Ft g Ta HA F 91e, 98 1< 3R T2 &R 6 foredt &t gt g
Q-No: and covered a distance of 6 km. What is the shortest distance now from his house? 3F IUD WQW@W%?
A 16 16
B 12 12
C 11 11
D 10 10
Q.No: 157 One side of square measures is 15 cm. What is the area? i &t T YT HT A1 15 I, Ahd T 82
2
A 250 em? 250 T
2 2
B 225 em? 225 T
c 251 em® 251 Tt
D 252 cm? 25298t
Simplify: WeAlpd B
.No: 158
Q (9)*2 x (19)% + (19)* = (19)° (9)*2 x (19)% + (19)* = (19)°
A 6 6
B 8 8
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Q.No: 159

o 060 © >

Q.No: 160

o 0 & >

Q.No: 161
A

B
C
D

Q.No: 162

O O @ P

Q.No: 163
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e

12
16

If \E—TI_F 4, then xzﬂ':%is equal to:

v
256
326
192
322

Pipes A, B and C can fill a tank in 10, 15 and 30 hours, respectively, D is an emptying pipe that alone
can empty the full tank in x hours. A, B and C are opened together for 3 hours and then closed. Now D
is opened which alone empties the tank in 30 hours. What is the value of x?

50
a5
60
a0

The sum of the squares of 3 consecutive positive numbers is 677. The sum of the numbers is:
48
42
45
51

. 2 'b2 2
If a + b + ¢ = 0 then what is the value of = + — + =2
bec ca ab

AOB 15 a sector of a circle of radius 2.6 cm. A circle 15 inscribed in it, as shown in the fig .
whose radius is 4 cm. Find the area of the shaded region. Take n=3.
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12
16

, B 3R C U 10, 15 3R 30 B2 H U TF BT IR Johd &, D TP Wi A dIell UIgy § S 3fhdl
| WTelt R Tobdl 31 A, B 3R C &l Teb T1Y 3 °e & forg Tiam o & #iR fh aq o< fean
Y GIel TS 3B 30 Tl F T BT @iehl AT &1 x BT A T 82

A HURTA eI SRersit & avf &1 AT 677 §1 GEmah &1 anT &
48
42
a5
51

Tfa+bte=0d M E LB L Cmamamd
bc ca ab

v ga fSadr Bear 0.6 890 &, AOB 3@e Biegws ¥ Jar & s & gubn
T & TG deid Uk ga & Torad Trewn 4 @9 ¥ oited 8T &1 SEwd w g
HE =3 A I
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Q.No: 164

o 0 w >

Q.No: 165

o O & >

Q.No: 166

O 0O W

Q.No: 167

A

2024 cm?

1512 em?

17.12 em?

10.24 cm?

The price of kerosene is Rs. 48 per litre and the price of spirit is Rs. 30 per litre. In what ratio should
the kerosene and spirit be mixed such that the profit after selling the mixture at Rs. 60 per litre be
50%?7?

3:4
None of the given options
5:1

1:1

The average income of 70 employees in a colony, which consists of only bank employees and
teachers, is Rs.35000. The number of teachers in the colony is four times the number of bank
employees. If the average income of the bank employees is Rs.21000, find the average income of
teachers.

Rs.36500
Rs.45000
Rs.41600
Rs.38500

Two numbers have a 375 LCM and a 15 HCF. What is the other number if one of the numbers is 457
225
125
250
360

The pair of equations are 4x+6y-11 = 0 and 2x+ky-7 = 0. Find the value of ‘k’ for which two systems
are inconsistent ?

4
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IR BT I 48 TUT TR Tier & 1 fBre 1 e 30 U Ui dfiex ¥ | IRRAH T B o e srguma
TR ST =fe dtfs 801 ST 60 ¥UT UM wier Jed W o TR 50% WTH I §I?

3:4

T T RAwedt & @ B¢ T

5:1

1:1

T Bl § 70 HHAREGT BT 3 31 $.35000 €, A Saa S wrar) ok Riee 21
HraF B Rigrp! 3 TRem So FHARGT W IR T 7

g Yo HHANG Bt ST 31T $.21000 7, & Rt &) a3 1 S|
%.36500

%.45000

¥.41600

%.38500

3 TEelt B 9.9, 375 AR .. 15 7, TS GBI 45 § ot GERT TR 1 g 2
225
125
250
360

THIBROT 4x+6y-11 = 0 3R 2x + ky - 7 = 0 §1 'k’ BT I8 HIF T1d BRI orges 1w ST o 3 872

4
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3 3
C 2 2
D 1 1

A person drives with speed 80 km/hr reaches his destination in 5 hrs. If his speed is increased

T ST 80 fabet / Her @t fd | g13a Bl §, O U7 Tider W 5 °e § ugHar gl

Q.No: 168 by a certain percentage, he reaches his destination 50 minutes earlier. By what percentage was e Tt 7 B U P ufoea 31 9fS SR 8, O 98 50 e ugd 3R Tidey d% Ugd SaT g
Ig@t A # fHan ufaa at 9fS g52

his speed increased?
A 10 10
B 20 20
C 25 25
D 15 15

Aj | i | i f21 km f i h | ime. f2 iR el & Jed IS

jetplane started 30 minutes late to cover a distance o 00 km from its scheduled time. The @ S A B 2100 & Q’ﬁ a7 ¥ R 30 249 3311 £

: jetpl iver i h km/h h the scheduled time. hat is th | : .
Q.No: 169 _lit:ezn;(igzj;tl;;r:::est e speed to 350 km/hr to reach the scheduled time. So what is the actua . X ¥ for R @Y 350 fpelyvieT TeT 31 & @ e R a8 S i g

A 1050 km/h 1050 fpft/der

B 750 km/h 750 Rrah/ger

C 500 km/h 500 TRt/ aer

D 250 km/h 250 TeRdT/ger

When 200 and 120 are divided by a number P, we get remainders of 5 and 3 respectively. Find the S 200 3R 120 B G p § fauiiid far Sirar 8, @ 89 HA: 5 3R 3 Auhd Wi gt g1 P & g Guifad Amr

Q:No: 170 1 of all the possible value of P. BT T 1 DI

A 55 55

B 53 53

Cc 56 56

D 52 52

Q.No: 171 7 # 3 w0 & MR W faufaa Ifed Teeiys Sfeqdi o1 907 Hifoe-

A e, afea

B Y1, U, g

c g, fomr

D gr, fa, fea, afea

feu T a1e & fow f & § U wes &1 99 Sifer-
Q.No: 172
" 3 vgaren few
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A PUHIGDH
B pard
C Pde
D P

Q.No: 173 ¥ # & S1H-91 fawey dR(3MeRT) B FT T8 a0 32
St & T I faediean §,
TaT G Y 77a i @ B
G 3 & 7 WR aren,
= firar e g9 e
fewfifk % 397 Rrer |, 95 fRren 1 faw sis!
T 7oy i T @, 39 @7 U1 yeg-yargl |
ary-yadt # Rt T g @
[gar it et ¥, [ ggq @i
Je-mdl @) faaat, I A v @i
Ot #T Bifal ¥ E-W TS @
ued 31 el I, e aifw AR
T8 STgT A e, FUSHmaT F1 AR}
PUSTIAT BT WR, TUT B: el faRToH |
gieT S~ uTg, R anfefy ot
TR HEE & 3 Vg I 31 g |
SIET BT W, g3 & o weet

Q.No: 174 FH=RIEd wsg-aggl # ¥ BI-T1 e A=t Wsel &1 TEt IareR0 32

A AHae, I, Sl
B ST, e, =
C 11, Bras], <
D N, @i, =T

Q.No: 175 =R & § dwife aier Riget f ¥ 950 & & 311 € » &1 o o 82

A T ol e A R, TR e g1y @ 7 Wy

B PIg ufed a1g a1 €t o ot 9 g o= @il & & | Al urar
c fauf & v Freah die W $10 w7 o 21

D TR $ I P TATN FR-SR
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Q.No: 176 Frffaa & I X &1 e 59 39 &1 a1 77 82

A DT

B SGYd ™

R

Q.No: 177 FHfifEd & ¥ SH-91 g TGSY THY FT G IaTGR0T 82

A wie

B UGUHPR

C ITEY
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freee
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Q.No: 183 =R & § HH- o1, FWAIGR “FHoarard Afmerd gt ot 82
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Q.No: 185 FHfifEd # ¥ srs act ot <eg &1 T Pifor-

A ufoeet
B AR
C SITEIR

D et

Select the most appropriate meaning of the given idiom.

Q.No: 186
A pipe dream.
A An illusory plan.
B A secret.
C A realistic dream.
D A plan in the process.

Q.No: 187 Identify the segment that contains a grammatical error. If there is no error, select 'No error'.
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My teacher said to me that all that glitters was not gold.

A My teacher said to me that
B all that
C glitters was not gold.
D No error.
Select the synonym of the given word.
Q.No: 188
Intrepid
A Detached
B Rotten
C Aesthetic
D Fearless

In the below question, sentence/passage is split into four parts and named P, Q, R & S. These four parts are not given in their proper order. Read the sentence/passage and find out which of the four
combinations is correct.

Q.No: 189 P. Would they look into this one and find them?
Q. It seemed to Bill as if they were looking in the ruined buildings to find something.
R. They stopped every now and again.

S. Two dark figures came up the street.

A SRPQ
B RPSQ
C RQSP
D SRQP

Select the most appropriate word for the given group of words.

Q.No: 190
A person who looks at the bright side of things.

Oculist
Optimist

Pessimist

o 0 W >

Atheist

Q.No: 191 In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences and choose the option that provides the correct final order.
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o 0 @ >

Q.No: 192

o 0 o >

Q.No: 193

o 0 o >

Q.No: 194

A

P. This device sent a continuous pulse of electricity into her brain.
Q. Five years ago, doctors implanted electrodes into a Slovenian woman's brain.
R. The electricity was to help manage her painful neck spasms.

S. These electrodes connected to a device in her chest known as an implantable pulse generator (IPG).
QPRS
PSQR
QSPR
SRQP

In the below question, consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of sentences from among the options.

P. Indian peacekeepers, who supported the Haitian Police for over a decade and are departing from Haiti have won laurels for their commendable service.
Q. Of the total 140 Indian peacekeepers, 126 officers left Haiti on July 21.

R. The remaining 14 Indian officers will depart on August 3, ending 11 years of continuous presence

S. It is to be noted that India is the 4th largest contributor of military personnel and police to United Nations peacekeeping operations.

QPRS

PQRS

SRQP

PRSQ

In the question below four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences and choose the option that provides the correct final order.

P. But, somewhere, somehow, we leave these hobbies far behind.

Q. At least that's what happens with most people.

R. I used to dance, run, act, make clay models, collect coins, write poems, review movies and do so much more, when I was a kid.
S. We all have hobbies as kids.

QSRP

SRPQ

RSQP

PRSQ

Select the most appropriate option to fill in the blank.

His autobiography will be one of the most awaited books.

happily
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Q.No: 195

o 0 W >

Q.No: 196

o 060 ©m r

Q.No: 197

O 0 = »

Q.No: 198

badly
deftly

eagerly

In the below question, consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of sentences from among the options.

P. A representative for the U.S. Attorney's office said it was not immediately clear what the suspect's motive was.

Q. Law enforcement officials were able to track Ms. Thompson down as the page she posted on contained her full name as part of its digital address.
R. Capital One Financial Corp said that personal information including names and addresses of about 100 million individuals were compromised.

S. The suspect, a 33-year-old former Seattle technology company software engineer identified as Paige Thompson.

SRPQ

RSPQ

RQSP

PQSR

Select the most appropriate synonym of the given word.
Dilatory

Dandy

Gaudy

Tardy

Purity

Select the most appropriate word for the given group of words.

One who dislikes art and culture.
Mercenary

Expert

Professional

Philistine

In the question below, a passage is split into 4 parts and named as P, Q, R and S. These four parts are not given in their proper order. Read the passage and find out which of the four combinations/sequence
is correct.

P. In the most severe stage, people with dementia are completely dependent on the help of others for the basic activities of daily life, such as keeping themselves clean and fed.
Q. There are multiple stages of dementia, ranging from some minor difficulty functioning to severe impairment.

R. Dementia is a progressive loss of cognitive function, marked by memory problems, trouble communicating, impaired judgment, and confused thinking.
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S. People who develop dementia may lose the ability to regulate their emotions, especially anger, and their personalities may change.

SPQR
RSPQ
SRPQ

o 0 © >

RSQP

Select the most appropriate option to fill in the blank.
Q.No: 199
The man was enough to thank her for all the hard work.
repellent
© MPESB. All rights reserved

gracious

bad

o 0O & >

attractive

Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.
Q.No: 200
My wallet is the pen.
next to
beyond

next

O O W P

besides
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